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Date Interpretation Mixed Chart Questions for SBI Clerk Mains, IBPS
Clerk Mains, RBI Grade B, LIC AAO, Canara Bank PO and Syndicate Bank
PO Exams.

DI Mixed Chart Quiz 63

Directions : Study the following bar and table chart carefully and answer the questions given
beside.

The bar graph given below gives the information about the length of six rivers which flow in India and Pakistan
both. The table given below gives the partial information about the ratio of the length of the river which flow

in India and Pakistan respectively. (assume that all the rivers flow in India and Pakistan only)

Length of Rivers in (Km)

Chenab |GG 1344.7

Jhelum [ 7043
indus [N 4552.6
Ravi [N 4492.8
Beas [N 3591

Sutlej [N 1995
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River |India: Pakistan
Sutlej 4:3

Beas -——:4

Ravi 7 -
Indus 13: 4
Jhelum 12:7
Chenab 4:7




1. The length of Indus and Jhelum rivers together in India is how many km more than
that in Pakistan?

A.3320.6 B. 3408.7 C.4286.2 D. 3492.8 E. None of these

2. In India, the length of Ravi river is 22.8 km more than of Jhelum river. In Pakistan, the
length of Ravi river is approximately what percent less than that in India?

A.35.71% B. 28.72% C.14.29% D.17.82% E. 8.33%

3. In Pakistan, the ratio of the length of Beas river to that of Chenab river is 760 : 559. In
India, what is the ratio of the length of Beas river to that of Chenab river?

A.3395:1118 B. 3285 : 1094 C. 3465 : 998 D.3325:1118 E. None of these
4, In India, what is the length of Indus, Jhelum and Chenab rivers together?
A. 6984.6 km B. 6548.6 km C.7229.2 km D. 5884.6 km E. None of these

S. In Pakistan, the length of the Beas river and Ravi river together is 3669.6 km then in
India, what is the length of all the six rivers?

A.12102.8 km B. 114648.6 km C.11846.2 km D. 9864.2 km E. None of these
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Common explanation :

Length in Pakistan

River Length in India (in km) (in Km)
Sutlej 1995 x 4/7 = 1140 855
Beas
Ravi
Indus 13 x 4552.6/17 =3481.4 4 x 4552.6/17 =1071.2
Jhelum 12 x3794.3/19 = 2396.4 7 x3794.3/19 = 1397.9
Chenab 4 x1844.7/11 = 670.8 7 x1844.7/11 =1173.9
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Explanations:

1. Following the common explanation, we get
The length of Indus and Jhelum rivers together in India = (3481.4 + 2396.4) km = 5877.8 km
The length of Indus and Jhelum rivers together in Pakistan = (1071.2 + 1397.9) km = 2469.1 km
The required difference = (5877.8 —2469.1) km = 3408.7 km

Hence, option B is correct.

2. Following the common explanation, we get
In India, the length of Ravi Jhelum river = 2396.4 km
In India, the length of Ravi river = (2396.4 + 22.8) km = 2419.2 km
In Pakistan, the length of Ravi river = (4492.8 — 2419.2) = 2073.6 km
Theratio=7:6

(7=6) x 100 100

Thereqd. % = =14.29%
7 7
Hence, option Cis correct.
3. Following the common explanation, we get

In Pakistan, the length of Chenab river =1173.9 km
In Pakistan, let the length of Beas river = x km,

x___760
1173.9 559

then

By solving, x = 1596 km
In India, the length of Beas river = (3591 — 1596) km = 1995 km
In India, the length of Chenab river = 670.8 km

The required ratio = 1995 : 670.8 =3325:1118
Hence, option D is correct.




Following the common explanation, we get

In India, the length of Indus, Jhelum and Chenab rivers together = (3481.4 + 2396.4 + 670.8) km =
6548.6 km

Hence, option B is correct.

Following the common explanation, we get
In India, the length of Beas river and Ravi river together = [(4492.8 + 3591) — 3669.6] km = 4414.2 km
In India, the length of all the six rivers = (1140 + 4414.2 + 3481.4 + 2396.4 + 670.8) km = 12102.8 km

Hence, option A is correct.
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